The Lebensohl Convention

Playing transfers you now have a modern and efficient system to proceed over your partner's INT opening, but how about if your opponents overcall your partner's INT? You must make do without transfers, but you have two other problems.
First, you need to be confident that your partnership has a guard in their suit before settling in no trumps.

Secondly, having lost the use of Stayman 2♣, you need a way to investigate a 4-4 major suit fit. The following conventional idea is called Lebensohl.

If the overcall is natural (e.g. 2♥)

Responder bids as follows: 
1) Double is for takeout. It shows game invitational values.
2) 2♠ (a new suit at the two level) is competitive, not invitational for game.
3)  2NT requires opener to rebid 3♣.  Responder continues with:

i) 3♥ (their suit) to show a game-going hand with a four-card  major (spades) and no heart guard.

ii) 3NT to show a hand with no four-card major and no heart guard.

iii) 3♦ (a new suit at the three level) is a sign-off.
 3♣/♦/♠
  (a new suit at the three level) is forcing.

 4)  3♥
(A cue-bid of the opponent’s suit) shows a heart guard and a four-card
 major (obviously spades). 
 5)  3NT is to play, showing a heart guard and no four-card major.

As an aide-memoire, note that responder makes a balanced game-force without a guard in the opponent’s suit via 2NT. With a four-card major suit responder bids the opponent’s suit either immediately or after 2NT. Thus the opponent’s suit takes the place of Stayman. 
Remember: 2NT = no guard. Cue-Bid =  major.
a)  West

East


West
North
East
South


♠
A 8 6

♠ 5 3 2

1NT
2♠
2NT
Pass



♥
K J 7 6
♥ A 2


3♣
Pass
3NT
Pass
♦
K 8 7

♦ A Q J 9

Pass
Pass


♣
K 5 4

♣ A 6 3 2

In (a) 2NT denies a spade guard and requires West to bid 3♣. 3NT denies 4 hearts. West can pass because he has a spade guard

b)  West

East


West
North
East
South



♠
A 8 

♠ 5 3 2

1NT
2♠
2NT
Pass



♥
K 8 7 6
♥ A Q J 2

3♣
Pass
3♠
Pass


♦
K 8 7

♦ Q J
 

4♥
Pass
Pass
Pass


♣
K 7 5 4
♣ A 6 3 2

2NT denies a spade guard and requires West to bid 3♣. 3♠ shows 4 hearts.

c)  West

East


West
North
East
South



♠
9 8 

♠ 5 3 2

1NT
2♠
2NT
Pass



♥
K 8 3

♥ A 2


3♣
Pass
3NT
Pass


♦
K 8 7 2
♦ A Q J 9 

4♣
Pass
5♣
Pass


♣
A K 5 4
♣ Q 6 3 2

Pass
Pass

2NT denies a spade guard and requires West to bid 3♣. 3NT denies 4 hearts. West cannot pass without a spade guard so tries 4♣. East could pass this but reasonably raises to 5♣.

d)  
West

East


West
North
East
South



♠
9 8 

♠ A 3 2

1NT
2♠
3♠
Pass



♥
K 8 7 6
♥ A Q J 2

4♥
Pass
Pass
Pass
♦
K 8 7

♦ Q J 




♣
A K 5 4
♣ 6 4 3 2

3♠ shows a spade guard (by the failure to bid 2NT) and also shows 4 hearts.
e)  
West

East


West
North
East
South



♠
9 8 

♠ A 3 2

1NT
2♠
3NT
Pass



♥
K 8 7 6
♥ A 9 


Pass
Pass

♦
K 8 7

♦ A Q J 3




♣
A K 5 4
♣ 6 4 3 2

3NT shows a spade guard (by the failure to bid 2NT) and denies 4 hearts.

f) 
West

East


West
North
East
South



♠
9 5 3

♠ 8 6


1NT
2♠
Dbl
Pass


♥
K J 6 5
♥ A Q 7 4

3♥
Pass
Pass
Pass


♦
A 9 8

♦ K J 7




♣
A 8 5 

♣ J 10 3 2
Dbl is for takeout. With a minimum West bids only 3♥. With a maximum he should make some stronger move, eg 4♥ or 3♠.

If the overcall is artificial

(e.g., 2♣ showing hearts and another suit) the logic is the same, with their suit being the anchor suit guaranteed by their bid. There is no point in worrying about the other suit, which you cannot identify.

Thus responder, if balanced and strong, bids 2NT (forcing a bid of 3♣ from opener) without a heart guard, and 3♥ to show a heart guard and four spades. 2♥ (the anchor suit) is for takeout, and a double of the conventional bid shows the suit doubled.

Quiz
1) How should North plan to show the hands below after the sequences shown? If the first move is a conventional 2NT how does North plan to continue over South’s forced 3♣?

i)       South
West
North
East

ii) 
South
   West      North
East


1NT
  2♠
  ?



1NT
    2♦ *       ?

*  2♦ shows spades and another suit.

a)
♠ K 9 3
♥ K J 2
♦ A Q 7 3
♣ 10 8 3

b)
♠ K 9 3
♥ K J 6 2
♦ A Q 7
♣ 10 8 4

c)
♠ 9 5 3
♥ K J 2
♦ A Q 7 3
♣ K 10 4

d)
♠ 9 5

♥ K J 3 2
♦ A Q 7 3
♦ K 10 4

e)
♠ 9

♥ K J 2
♦ Q J 7
♣ A K 10 6 4 2

f)
♠ 9

♥ J 8 2
♦ Q J 7
♣ A J 10 6 4 2

g)
♠ 9

♥ K J 8 2
♦ A 10 4 2
♣ K 7 4 2

2)  What should be South’s next bid with the hands below after each of the sequences shown?
i)      South
West
North
East

ii)
South
West
North
East

        1NT
2♥
3♥
Pass


1NT
 2♥
3NT
Pass

          ?





  ?
iii)     South
West
North
East

iv)
South
West
North
East
          1NT     2♥       2NT    Pass


 1NT    2♥      2NT   Pass

           3♣      Pass    3♥     Pass


  3♣
Pass   3NT   Pass


 ?





   ?

v)      South
West
North
East

vi)
South
West
North
East

1NT
 2♥     3♣     Pass


 1NT    2♥      Dbl     Pass


 ?





   ?

(a)
♠ K 10 7 2

♥ 9 4 3
♦ A Q 4
♣ K 7 2

(b)
♠ K Q 7 2

♥ K 4 3
♦ A Q 4 
♣ 8 7 2

(c)
♠ K 10 7

♥ 9 4 3
♦ A Q 4 2
♣ K 7 2

(d)
♠ K 10 7

♥ K 9 4
♦ A Q 4 2
♣ 10 7 2 
Answers to quiz 
1) (a) (i) and (ii) 3NT. The obvious contract.

(b) (i) and (ii) 3♠. Showing four hearts and a spade stop.

(c) (i) and (ii) 2NT. Denying a spade stop. Follow up with 3NT over the forced 3♣ to deny four hearts.

(d) (i) and (ii) 2NT, followed by 3♠ to show four hearts.

(e) (i) and (ii) 3♣. Natural and forcing.

(f) (i) and (ii) 2NT, intending to pass 3♣.

(g) (i)  Dbl. For takeout, implying the values for 2NT.

(ii) 2♠. Bid the anchor suit at the two level for takeout.
2) (a) (i)   4♠. North has four spades. The principle of fast arrival suggests bidding 4♠ if 


minimum and 3♠ if maximum. 3♠ is a reasonable alternative 
(ii)   Pass. North has a heart guard, but not four spades.

(iii)   4♠. As in (i). 3♠ is a reasonable alternative.
(iv)   4♠. Difficult! North has denied four spades or a heart guard. You cannot pass 3NT, and if you are going to bid at the four level you might as well look for the 4-3 fit that will give you game.

(v)   3♦. Showing a concentration of values and implying you like clubs.

(vi)   2♠. North's double is for takeout.

(b) (i) 3♠. (Maximum.)       (ii) Pass.       (iii) 3♠.

(iv)   Pass. This time you have a heart guard.

(v)   3NT. No enthusiasm for clubs, and a heart guard.

(vi)   3♠ . This time you have a maximum INT opening.
(c) (i) 3NT. North has a heart guard.       (ii) Pass.

(ii) 4♦. Partner has four spades but no heart guard. You
could try 4♠, but then the hand with four trumps might have
to ruff hearts.
(iv) 4♦. The only choice.          (v)  3♦. Club support and good diamonds.

(vi) 3♦. A minimum INT opener with four diamonds.

(d)   (i) 3NT    (ii) Pass     (iii)  3NT       (iv) Pass      (v) 3NT         (vi)  3♦       
